MATH 280-01 (142)
HW # 1

Q1. Is (6,4, —2) a solution of the equation 3xg + x3 — 27 = 47

Q2. Solve the system

3x1 + 229 — 5r3 — 624 + 23:5 =

T3 + 8xy — 35
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Ty — 51‘5

Q3. Determine the values of k so that the following system has:
(i) a unique solution

(ii) no solution

(ili) an infinite number of solutions

1+ Ty — T3
21]1 +3I2+k’l‘3
1+ kxog +3x3 = 2

I
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Q4. Use Gauss-Jordan reduction to solve the system:

201 + 319 — 223+ 514 = 1
3271 — T2 + 2.733
41’1 — 5.1'2 + 6333 - 51’4 =7
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Q5. Describe all the possible 222 matrices which are in reduced row echelon form.



